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Use the Read–Draw–Write process to solve each problem.

1. A florist uses 2,448 flowers to make bouquets. They put 24 flowers in each bouquet and sell
the bouquets for $25 each. If the florist sells all the bouquets of flowers, how much money
do they earn?

2. Miss Song buys 15 boxes of fruit snacks for the school field day. Each box holds 24 packs of fruit
snacks. She gives as many packs of fruit snacks as possible to 22 classrooms so that they each
get the same number. How many extra packs of fruit snacks does Miss Song have?
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3. A carton of eggs has 12 eggs. A box of eggs holds 12 cartons. A baker uses 5 eggs for each cake  
he makes. If the baker buys 3 boxes of eggs, what is the greatest number of cakes he can make?
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